RMS-7087A - CORE MANUAL CLUTCH

Item Part Number Item Description Qty

5 113-021B PRESSURE PLATE - Core - KTM65 1
23 169-987A CLUTCH COVER - KTM 65cc (2009+) 1
24 170-005A CLUTCH BASKET - KT65 1
27 178-045B CENTER CLUTCH - CORE - KT65 1
47.1 411-130 FASTENER - M6 x 8 Super Low Head Socket Head Cap Screw 6
47.2 411-162A FASTENER - M6 x 1.0 x 12mm Button Head Hex Screw, Stainl 2
47.3 411-180B FASTENER - M6 x 1. x 18mm Button-Head Allen Screw, Zinc- 1
47.4 411-181A FASTENER - M6 x 1.0 x 25mm Button-Head Hex Socket Scre 6
55 420-301A GASKET - Slave Cylinder - Mag,Form - fits 180-100,-112,-119 1
67 465-414A DRIVE PLATE - 0.040 CORE - KT65 7
69 469-691 FRICTION DISC - K65 Friction Discs 6
70.1 471-005C BASKET BACKING PLATE- KT65 1
70.2 471-007B SPRING PUSH PLATE - KT65 1
70.3 471-114 DRILL - 1/4 SM Drill BIT 1
91 491-001 ADHESIVE - Loctite 243 .02 fl oz 1

Wednesday, August 17, 2016 RMS-7087A Page 1 of 1



